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QUESTION 1
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An administrator receives notice of a large number of ARP table issues. The issues began after a maintenance window
36 hours ago. The issue did not exist prior to the maintenance

window.

Which change was made to the port group that is causing the ARP table issue?

A. Notify Switches was changed to No.

B. Uplink 2 was changed from Standby to Active.

C. Failback was changed to Yes.

D. Network failure detection was changed to Link status only.

Correct Answer: A

QUESTION 2

A system administrator is unable to clone a windows 2008 server while connected directly to an ESXi host through

vSphere Client. Which two methods can be used to complete the task? (Choose two.)

A. Connect to vCenter Server and retry the operation.

B. Use VMware Converter to perform the operation.
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C. Connect to the host using the Web Client and retry the operation.
D. Use VMware Configuration Manager to perform the operation.

Correct Answer: AB

QUESTION 3

A vSphere Administrator has a multi-tier application deployed in a vApp. The administrator needs to rapidly deploy
copies of the multi-tier application to various departmental infrastructures throughout the company. Which step should
the administrator take using the vSphere Web Client to allow this?

A. Export the vApp as an OVF Template

B. Convert the vApp to a Template

C. Clone the vApp to a OVF Template

D. Add the vApp to the Catalog

Correct Answer: A

QUESTION 4

An administrator needs to manage a virtual machine that cannot be accessed directly from an external network. Which
solution should the administrator choose?

A. Power off the virtual machine and use the vSphere Web Client to open a console to the virtual machine.

B. Install the Client Integration Plug-in in the Web browser and open a console to the running virtual machine.
C. Install the DCUI plug-in in the Web browser and open a console to the running virtual machine.

D. Power off the virtual machine, install the Client Integration plug-in, and open a console to the virtual machine.

Correct Answer: B

QUESTION 5
A vSphere administrator finds a HA/DRS cluster status has turned RED indicating a degraded state.
What is the likely reason for the indication?

A. The cluster enabled for HA has lost resources and is unable to fulfill its failover requirements.
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B. The cluster does not have enough resources to satisfy the reservations of all resource pools and virtual machines.
C. Incompatible CPU generations between hosts are preventing DRS migrations.
D. The cluster is currently electing a Master host and is unavailable to perform HA functions.

Correct Answer: A
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